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I have a question concerning the Apple Ethernet Twi sted Pair Transceiver.

was told that 10BaseT Ethernet only requires 4 conductors (2 tw sted pair)
whi ch nmeans it could be used with an RJ-11 connector. The Apple Ethernet

Twi sted Pair Transceiver ships with a cable that has 8 conductors (4

twi sted pair) using an RJ-45 connector

VWhy ship the cable with 4 extra conductors if they are not used? Wat are
t hese extra conductors used for? Which colors are used and which are for
ot her purposes in the cable sent from Appl e?
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You are correct, 10BaseT 802.3 only requires 4 conductors. You could
i ndeed wire up a 10BaseT Ethernet network using RJ-11 connectors. The
ot her 4 conductors are not used.

The reason the Apple Ethernet Tw sted Pair Transcei ver uses an RJ-45

connector i s because the 10BaseT addendumto the 802.3 standard specifies
an RJ-45 connector. Here are the pin assignnments:

Not used by 10BaseT
used by 10BaseT

Not used by 10BaseT
Not used by 10BaseT
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Pi nout for RJ-45 connector receptacle:

12345678
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